





4. (a)

(b)

9. a)

(b)

6. (a)

(b)

()

The following consecutive readings were taken with a levelling instrument
at an interval of 20m. 2.35, 1.95, 0.95, 2.1, 2.8, 2.1, 1.75, 0.85, 0.65, 1.65,
2.45(m). The instrument was shifted after fourth and eighth readings. The
first reading was taken on BM of R.L. 55m. Find the R.L. of all the points by
height of instruments method. 8

Find the correction for curvature and for refraction for a distance of
(1) 1200 meters and (ii) 2.48 km. (7

The following records are obtained in a traverse survey ABCDA, the length
and bearing of the last line DA was not recorded. Compute the length and
bearing of the line DA. (7

AB BC €D
759 1783 615
30°30" 1 05°45' 215°30°

Two points A and B are on the opposite side of a hill. The tacheometer was
set up at P on top of the hill and following readings were taken. Back sight
reading at BM is 1.5 m and R.L. of BM is 400m. The multiplying constant
and additive constant of the lens is 100 and O respectively. The staff was
held normal to the line of sight.

Find :

(i) The distance between A and B 31001

(i1) The gradients of: lines PA and PB. 8)
Staff station Vertical angle Cross Hair readings (m)

A -10°0" 1.15 2.1 2.95

B ~11°0° 0.95 155 2.4

Derive the expression of height by reciprocal levelling with neat diagrams.
4+3)

The magnetic bearing of the Sun at noon is 181°20° from a station. Find the
magnetic declination at the station. What will be the true bearing of a line
observed from that station if the magnetic bearing is 26°30’. (4)

Distinguish between direct contouring and indirect contouring. (4)
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